Divide by 7 Tables:
7+7=1
14+7=2
21-7=3
38+7=4
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6 =
63-7=9
70-7=10
77 -7 =11
84 +-7=12

Practice writing these out in your maths copy!




0 Use objects. Share each amount to

@ Use your 100 Dots grid. Share each
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Divide by 7
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make 7 equal groups.
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amount to make 7 equal rows.
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14 =7 rows of‘ 2

35 =7 rows of

63 = 7 rows of

42 = 7 rows of

49 = 7 rows of

7 =7 rows of

70 = 7 rows of

56 = 7 rows of

28 = 7 rows of
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Challenge Divide each amount

into 7 equal groups as fairly as
possible.
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Thinking Strategy Division as the inverse of multiplication: knowi
ng that 8 x 7 = 56 can
solve 56
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0 How many jumps of 7 back to

0 from:

(a) 35?

(c) 287

(e) 77
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Use your 100 Dots grid.
How many rows of 7 in:

(b) L2?
(d) 70?
(f) 567
(h) 217

o Count on in sevens.

0 Use multiplication to solve division.
@ 7x[ 6 ]=12, s 12:7=[ |
(b) 7XE—28 s0 28+7=[ |
() 7>< = 7,50 7-7=:]
(d) 7><:=56,so 56+7=_]
(e) 7x:=35,so 35+7=G
® 7x[ J-uas0ua:7=[ ]
@ 7x[]<70,5 70:7=[ ]
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63+7=

70+7 =
42 +7 =
7+7=
h+7=
B=7=
56 + 7 =
21 +7 =
28 + 7 =
4q+7=

h+7=
21 +7 =
63 +7=
b2 +7=
35+7=
56 + 7 =
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b9+ 7 =

t

oe— Think: how

many groups
of 7 are in 63?

Think:
14 + 7 equals
what number?
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(a) 7x|:

(b) 7x
() 7x
(d) 7x
(e) 7x

L

= 140,50 140 =7 =| |
_280,50280+7=[ |
21050210+ 7=[ |
_ 112,50 112+ 7= ]
= 133,50 133+ 7 =

—
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ear Family Play ‘Times Snap with 7' (see page 70).
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THURSDAY

T+ |=7
(b) 63 =+ =7
() 35+ =7
(d) 21+ ’=7
(e) L2 + =7
(f) + 7 = be— Think: what
—_— number + 7 = 4?
(9) +7=7 S ? .
(h) +7=10 [u[ufu]u]u]u]u
® +7=
gl +7=8
(a) 7| 56::4b):7 | 70..,(e) 7 |.35
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(@) b3 +7-7=
(b) G6+-7+9=

(0 70+7N+Ux7)=
d MA+7ND+@Bx7N=

Challenge B N

(@ 84:7=[ |o—|Think:break
“into friendly

(b) 98+7-= ‘numbers.

(OF 112 7=

@ A+ J-7 P

(e) 126 =+ =7 B

You are now ready to do Revision E (page 65).




